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You can resolve that the mouth of a  — 527 P27 937> 799 %57 VIWDN
cow is like the courtyard of the victim

OVERVIEW

The X3 concluded that the reason the 2937 9v2 is liable to pay for the 71717 is
because the 295 ate the 7777 in the w73 of the 77777 Y¥3, so it was a case of V2
IR 77w3, for he ate it in the 7%17 of the 2171, The X773 continues and says. We can
now resolve a query that the 779 9 is like the 1737 9%¥1 and not like the p i 7xm,
for if the 9" is like the p>rna am, why is the 29371 9va liable for the 71m,' he
should say to the 777nn Hv2a, ‘what is your bread doing in the mouth of my dog’.
Mmoo finds this X113 very puzzling” and explains it accordingly.

nooIN asks:
= 1Y NN 9HIINY TN v 4])3‘\‘1 3]’3‘\’)5‘\)3‘1 29 INYN VIV NY ININT NN

It is astounding! Why does not the X723 resolve this query (whether 2%r> 779 "
M7 P10 or 1T PUian N¥no) from the other cases of our mwn, for we learnt, ‘the

‘tooth’ is n7v1» to eat that which is appropriate for her’ to eat; indicating that 715
M7 PTIT N -
= NN TIND NANIN SPP8N NYIRT NINNM

And from that same 71wn which discusses when the animal ate from the sides of

the plaza or from within the store, where she is 2n for Jw; proving again that 2%n5 715 0
M7 P,

mMooIn has an additional question:
—2Y%5n NN NOIYN 51",7‘1‘,7‘1)3 PAY OMN MY

And additionally those who wanted to infer from the 71w»n, which states if he

incited a dog against him, to prove that *»7 pr37 737> 779 % -
- NDWUN 199 9977 1990 YOIV 295 PNInm INYAN KXY DY

Why did they not cite our w2 of 797m Huaw 25, from where the X713 infers

' See v1Wwon "7 >"wA, where it appears that the proof (of 7 pra 7¥m2 8"9) is from the 73wn, which obligates the Yy
29311 to pay (a w"31) for the 771
2 It appears from the discourse in the X3 (especially from the question X% XIAA 2™07T W BT P 1¥AD KN
72 nnown'), that if we assume that »7 P17 J%¥n2 799 %, there is no Jw 210 for eating in someone’s field. This is
contrary to many n11wn that we learnt. How could there even be such a thought?!
? See footnote # 1. The proof that *»7 pr17 737> "5 can be brought from any of the nawn, which state that =¥ma 1w
P11 is 2°1; why choose the 71wn of 7771,
Yo,
5 2,30, The 7m1wn is in 2,1V P70,
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now that *»7 P11 7xmd "52°

mMooIn has one more question:
= NPY 2AYONY 1199 INAVIT NI TN YA NN 7‘1)3Ni7 INI TV

And furthermore, what is the meaning of that which the p°m claims; ‘what is
your bread doing in the mouth of my dog’, what defense is that; since the dog
took the bread, how can the 292571 %v2 ask what is your bread doing in my dog’s mouth?!

In summation; we are now assuming that if *»7 P17 7% "5 there is no 7w 211 by eating (only
by "1 70RIT? MO 1910). NMdOIN therefore has three questions. 1) There are many N1awn which
state clearly that 717177 9%12 @ is 217 (so how could we even entertain the thought that =%m> 5"
"7 pman. 2) why did not the X3 bring proof from the 7wn of 7970 Hv1w 295? 3) How can the
P defend himself by claiming *X2%37 81192 N7 *¥2 *R1, when the dog took the 77n?!

MooIN answers:
= 1990 0T NONNN NI VYONIY 819 XY PIINNT ININ DINT PNYY 139395 NI

And it is the view of the >''9 that we cannot resolve this query from all these

cases in our mw» and also not from that case of the dog taking the 79m -
= £390 MY NHINY PIIN 8N M99 NNNAN INPY ONRT PNYT NPT DIVN

Because at this point the X713 assumed that if an animal took food from the =xn

»117 and ate it in the 971 -
- SNTINY NN 199299007 2990 [HO1N I8N IN]

[or (even) in the P17 93] he has to pay, for we consider him liable for the

taking alone i1 13nn (even without eating), therefore it does not matter where he ate it -
= 999N 1D NI NNYPYA YWOT 11297 NI NYADN 199

And logic also dictates so, for since there is negligence by taking something
from the pr17 MW, why should we care where he eats it —

mooIn responds to an anticipated difficulty:9

® The actual query and the attempts to resolve it are presented on 2,33 (including the attempted resolution from the

mwn of 29377 nR 12 70°w [and others]). In the entire discussion there, no one attempted to prove anything from our

mwn of 7770 SuIw 295. It is only here where we are discussing the 73wn» (and not the query) that the X3 claims that

we can resolve the query from this 71wn. [Seemingly this question can be broadened to ask why they were not v

from the other nvrawn as well (see footnote # 3); however m»doIn asks from 7771 because the & nx (here) actually

attempted to prove *27 P1°17 7X¥n2 5"5 from this 71wnA.]

" This claim of the P> can be made if we assume that *»T PIna 1¥m2 779 9.

8 There was never any doubt that if the animal took the food from the 377 7% and ate it (wherever) that he is 2>1.

Therefore we cannot cite any of our N1Iwn as proof since in all those cases the animal took the food from the =xn

2117, Moo will shortly tell us what the query was.

? How can we say that (the X7»3 initially assumed that) he is 211 no matter where he ate it (as long as he took it from
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= NYPY 139N 02390 MY NN NTYN 1P0YNNT NN
And that which we exclude from the 7105 of 91K 77w2 7v2) that he is not liable if

it was in the 9"'719; that is referring to the taking. The animal must take it from the 2%n
P1°37 in order to be liable. However it makes no difference where it eats it.

mooIn continues on with explaining the query:lo
= M5 02915 Y721 VP NVIY YIN 199 392 7999 VIVIN DN D N XIYAND)

And his query was in case where for instance a Y''wn or a gentile placed food in
the mouth of the 719p -

- b 0swnY KXY OX NPOY 1919 NNYN XY NNNAAY NI 1735 PIITUN 33 INST
Where they (the 1"wn) are not responsible for paying, and where for instance
the animal could not have taken the food if the 1"wn would not serve it to her -

= 1199 TINY NN 1INV 113 IV 127 PIMAN I8N NI D997 HYA 29N 0T PN I8N IN)
So if the 772 o is like the ?1°377 9371 the owner of the 775 is liable;” however if
the 79 o is like the p 17277 9xn the 7197 Hva is 7w, since someone else placed it
in her mouth."

In summation: The assumption is that if the 775 took the food from the p1°377 7% he is always 21
(regardless where he ate it). The query is in a case where a 1"wn (who cannot be held responsible)
fed it to the cow. If P1°377 9%nD 9" it is considered MR 77w ¥ (for his mouth is AR 77w — XN
P117); however if P17 7% 5"5 there was no R 77w2 Y1), and he will be Mws. This query
cannot be resolved by any of the n1iwn, which are discussing cases where the animal took the
food from the {2117 2%1.

Moo continues on to explain how the X nx attempted to resolve this query:
- B15annn XY 0IVON MINPT RN

the 1177 %), when the 770 writes (7,2 [2°vawn] MnY) that IR 77w1 7y2Y; indicating that it must be consumed "Xm2
P1°371; MdOIN responds.
' Seemingly if he is 21 when the animal took it from the pr37 78n (regardless where he ate it, what difference does
it make if >n7 1371 %70 779 9D or M7 P 1A XM, since he is always liable for taking it p1°17 7¥mM. MdOIN explains.
' See “Thinking it over’.
"2 If the animal was capable of eating the food on its own (without the assistance of the 1"wn), the 7197 v2 would be
21 for allowing his 779 to access someone else’s M. It would be a case of 012 12101 7y wd2 INPnn which is 2n.
" Since pri 1xmd 5", the animal took or destroyed the N9 in the P %m.
14 The animal did not take it from the P1°171 7% but destroyed it in the P17 7¥17; there can be no 21°1 in this case.
15 [See footnote # 1.] We are now assuming that the 21°171 of @ is for the taking the food nX 77wn, therefore all the
n1wn mentioned above cannot resolve the query since they all are discussing cases where the animal took the food
P17 7xnn; however the query is where the animal did not take the food at all, but it was served to her, and then she
ate it. The query is whether her mouth is considered as a 17 7%f, so by eating it we consider it as if (when she
swallows it) she removes it from the P11 9%n. Or whether the 5" is 27 P> 71X, so the 775 never removed it from
the P17 %M.
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And this which the &) states ‘let us resolve’; it did not mean to resolve the

query from our 7327 of 7770 HuIw 2937 -
- 18199017 SyaT WrTIa NN NPPINT PHYIYT NINON NIN

But rather the X723 wanted to resolve the query from the discussion in our X923,
where the X713 established the 71wn in a situation where the dog ate the 77717 in

the w73 of the ;199m77 Y2 -
= [P13n] A8Na NN NNYPY 12T NI YV

We can derive from this that there is a requirement that both the taking and

the eating must be in the P17 937 -
= NI 21NN NIMHT NIN NDIIND 7918 N1 AT 9272 DYV PRV 9 JY 9N

Even though there is no logic to this, why there is a necessity to eat it in the Xn

P1°177; but rather it is a decree of the 1790 that it must be eaten pram qxma -
= N7 PN I8NIT 2A»NT N9 ‘[1515 9NN NIV VIVaM

So now we can resolve the query that when someone else places the food into

her mouth that the 7797 %2 is 271, for the "o is like the 19177 927 and it ate it in

the p1177 7% as the requirement of InXR 77w demands -
= INDNT NIDIDA TN Y2 INN 19D 9N 813 NINIT PPN I8N INT

For if the 9"o is like the p 57 2xm and the 7797 Yv2 can say to the P13, in order to
exempt himself from payment (in this case where someone else placed the food

into her mouth), ‘what is your bread doing in the mouth of my animal’ -
- 5xa994 NI TN A INM 1YY MIN S8 33 XD

So here too (by the 771 01w 292) the owner of the dog can say to the 777n7 Hv3,
‘what is your bread doing in the mouth of my dog’ —

mooIn responds to an anticipates a difficulty:
- Byngyn npY 2590y N PYY 7Y XY XINT RDITIND W N

However this expression (*X2727 X192 097 °¥2 °Xn) is not precise, because this
expression is not appropriate here, since the dog took the 71771 by himself -

'® The X3 asked if he ate the 7777 in a third person’s w73, why is he 2771 it is not nx 77w2. The X3 replied that he
ate it in the w>7x of the 77777 Yv2. This proves that the original assumption of the &3 (that it does not matter where
the animal ate it; it only matters that he took it from the P17 7%1) is incorrect, for why did the X713 (ask where he ate
it and why did the Xx) answer that he ate it 77717 9¥27 w>733; what difference does it make where he ate it?! This
proves that the requirement of X 7772 7v2 is that the animal must eat it P17 7XA2.
17 Once we know (from the discussion in our X»3) that it must be eaten P17 9813, we can derive that pri7 9¥n2 "D
'n7 (otherwise it is not eaten pri17 1¥n2), thereby resolving the query that if a Y'wn fed the 779 the 7797 %v1 is 277,
since the 7779 ate the food p117 7%M2.
' The 2997 9¥2 has no adequate defense by claiming 121 7097 *¥a *Xn, since his dog took the 7771, so why is he
claiming an exemption from payment (not like in the query where the 7775 was fed, but did not take it herself).
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- P1IN 98N NYIAN 1YAT 2NN NPT 113 1Y NN
But rather the X713 means to say, since it is a 3'';1°13 that eating in the P17 221

is a requirement to be liable for v -
= PN 98N NYIIN NN NY9NN HYaT WITIA NDAN 23 1D9AN 791191 98N N9 29 IN)

So if the 2"5 is P>t 23172, even if the dog ate the 77717 in the w>7x of the “ya

71995, it is still considered eating 51777 9XM3 (since *»7 P>Tan 7%M3 5") and therefore he
should be mva; this is what the X713 meant to say. The reason it said 121 797 "y *Rx, is -
= 159 VP NP TINY NN INA NT PYY TPYT 2N

That since this expression (of "2 7097 °¥2 °X») is appropriate when someone

else placed the food into her mouth, therefore the X723 mentioned it here as well
regarding the 7971 H01w 292.

mMooIN continues on to explain the attempts of the X713 to resolve this query:
= YNIN IN AD5N 993 19%3N 19 N 1DAN 29PN Ysy0u1 2950 NN 12 1OIUN 315919

And the X3 cited from the mwn of 2927 nX 12 oW (he incited a dog against
him); where the X723 assumed that even if he placed his friend’s hand into the
mouth of the dog or the snake it is called »ow (inciting) —

Mmoo continues with the next proof the X713 brings:
= 19%3M WA YN 279N 20W PNTI ANNT 139N 20‘[’\’)111

And w7 (he made bite) means that he stuck and pressed the teeth of the dog

or the snake into the flesh of his friend, where the rule in both cases is that the 29277 %va
wnImis 2°m -
= NI POMIN 8N ¥ XDNY 2AD9N J¥a 299N INNIN 19 ON)

But if it is so (that °n7 pran 7xn> 9"d), why is the 29277 ®va liable, for is not his

hand (of the person who was bitten) in the 221 of the P2 -
= IN2YIT N1IDA T7 S0P INND 1YY N1

So let the 29277 Yva say to the P11, ‘what is your hand doing in the mouth of my dog’.

Mmoo anticipates a difficulty:
= N2 HNOYN 350 NINN 29NT )W 9INPT XM

And that which the X2 asks; how is the case of Jw, in which the 7910 holds the
owner of the animal liable, possible; if we assume "7 P> 7300 5"'s -

' The simple meaning of 0" is that the man ‘merely’ incited the dog. Mmoo interprets it to (also) mean that he
placed his friends hand in the dog’s mouth. If 7io°w would merely mean incited; how can the 27377 P¥2 claim >v2 *X»
82937 X192 77°, when the dog attacked (after being incited). Therefore Mmoo expands the meaning of Mo*w.
% The simple meaning of w7 is that he brought the snake close to the person so the snake could bite him. Mmoo
interprets it to (also) mean that clamped down the teeth of the snake. See previous footnote # 19.
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- Po13n 980a AN NNYPYNY 1PN Y NY NNIYNT ) Y 9N
Even though it is verily possible, to have a case of 1w; where for instance the
taking of the food was in 215277 9%m7; so what is the question?!

mooin replies:
- 2289 nnawn »29n PAP PN 48N NN NYANY YHIYN RIPT NPYOVYIT DIVN NON

But since the simple meaning of the verse is that the eating was in the =xn
19177, therefore the X132 inquires how is it possible if "5 is pram ~xmo.

mMdoIN responds to an anticipated difficulty:*
= PHYAVT RINDN VIVIN 293 XN (3,5 97 HAY NIDN ¥

And in the beginning of naw noo» there is also a resolution from the discussion
of the Xam3 -

AN 93 %253 29 Prya1n Poivon mnpt
Where the X713 says we can resolve the query of 2R 93 92°3 2.

SUMMARY

The query regarding 5"5 was in a case where a non-responsible person fed the 775.
The X713 initially assumed that only the taking needs to be from the P17 9% (not
the eating). The query was resolved since the X723 establishes that the eating (of
the 7771) must also be in the 2117 7¥7; proving thereby that 27 21717 7¥73 8",

THINKING IT OVER

mpoIn explains that the query is in a case where a Y'wn fed the 7n72;” indicating if
it was a npo that fed the 7272 the npo would be 21, How then does the X7n)
attempt to resolve the query from 27577 nX 12 70°w, which according to NM201N means
that he placed his friend’s hand in the dog’s mouth,*’ since in this case the 29971 ¥2
is surely 71v», since a ripd placed the hand into his mouth?!*®

! We are now assuming the 7"0 of the Xx1»3 that the (only) limitation of InX 777 is that it be taken from the P13 1%
(but not (necessarily) eaten in the 117 7%17)
2 We understand that there can be ‘regular’ 1w, if it was taken 137 7¥n»; however it appears from the 2109 that 12 is
where it was destroyed (eaten) p1°17 1¥13; how can that be if *1n7 p°1ai1 7812 9. The answer is by 121 n17°9 7910,
3 The basis of this Moo is that the X3 is not deriving proof from our 73w, but rather from a discussion in the
X n3. This seems highly unusual that we resolve a query from a discussion of the X7n3.
** The X3 there chose not to respond in a specific manner, which gave us a (possible) resolution in the query of 22 1.
% Others amend this to read *y37 (instead of *va7»). The X1 there states 121 °2°2 27 °¥27 121 °2°2 277 VIWON.
% See footnote # 11.
7 See footnote # 19.
%% See n'"ma and TmoNT w9 XN # 123,
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